RF-TVMFMO2_10-0565_QSG_V1_EN.eps 1 6/2/2010 6:03:12 PM

M QUICKSETUPGUIDE =
—rocket

RF-TVMFMO02

Thank you for choosing the Rocketfish RF-TVMFMO2.
The RF-TVMFMO02 TV mount is designed to support a
flat-panel TV weighing up to 60 lbs. (27.2 kg).

M6 bag

L M6 x 12 mm screws (4)
M M6 x 20 mm screws (4)
N M6 x 35 mm screws (4)
O M6/M8 washers (4)

P M6/M8 spacers (4)

Package contents

A TV bracket (1)

B Arm assembly (1)

Lag bolt bag

C Concrete anchor (2)
D Lag bolt washer (2)

E 5/16in.x 2-3/4in.lag bolt (2) M8 bag
M4 bag Q M8 x40 mm screws (4)
F M4 X 12 mm screws (4) Hex key bag

R 3/16in. hex key (1)
S 5/32in. hexkey (1)

G M4 x 30 mm screws (4)
H M4/M5 washers (8)

I M4/M5 spacers (4) Cap screw
M5 bag T Capscrew (1)
J M5 x 12 mm screws (4) Cable ties
K M5 x 30 mm screws (4) U 8in. nylon cable ties (5)
Lag bolt bag ®) - ®
(@) ====ttttting) @ | Ty
516in.x 2-3/4in.
M4 bag
M4 x 12 mm M4 x 30 mm Ma/M5
M5 bag M4/M5
O (o ©®
M5 X 12 mm M5 x 30 mm
O (um ® (jmm © @
M6 < 12 mm M6 x 20 mm M6 x 35 mm M6/M8 M6/M8
M8 bag Hex key bag

\
1\|||||||mmuu|||umn||||||||umn|u||mmu ®Cs — '
M8 x 40 mm '

Cap screw \
@ ﬂjﬂlﬂﬂﬂﬂlﬂﬂlﬂﬂﬂ ® % 5/32in. I
Cable ties
U = ]
— Tools you will need:

« Stud finder « Socket wrench with

. Awl 1/2in. socket or

« Pencil adjustable wrench

« Level « 7/32in.wood drill bit

- Tape measure « 3/8in.masonry drill bit

« Phillips screwdriver (concrete only)

« Hammer (concrete only) « Power drill

1 Install the TV bracket
Option 1: Installing for a flat mounting surface
1 Align the TV bracket (A) with the screw holes on the back of the TV.
2 Place the M4/M5 washers (H) or M6/M8 washers (O) over the holes in the TV bracket,
then insert the M4 screws (F), M5 screws (J), or M6 screws (L or M) through the washers.
3 Tighten the screws until they are snug against the TV bracket. Do not over tighten.

Option 2: Installing for an obstructed mounting surface

Note: Use additional washers (H) with M4/M5 hardware only.

1 Align the TV bracket (A) with the screw holes on the back of the TV.

2 Place the M4/M5 washers (H) or M6/M8 washers (O) over the holes in the TV bracket,
then insert the M4 screws (G), M5 screws (K), or M6 screws (N or Q) through the washers.

3 Tighten the screws until they are snug against the TV bracket. Do not over tighten.

Download fron...... Manuals Search And Download.

2 Install the arm assembly
Note: Any material covering the wall must not exceed 5/8 in. (16 mm).
Option 1: Installing to a wood stud wall 1
1 Locate the stud. Verify the center of the stud with an awl
or thin nail or use an edge-to-edge stud finder.
Level the arm assembly (B) and mark the hole locations.
Drill pilot hole to a depth of 3 in. using a 7/32 in. diameter drill bit.
Align the arm assembly (B) with the pilot holes.
Place the washers (D) over the holes in the
arm assembly, insert the lag bolts (E)
through the washers, then tighten
the lag bolts only until the washers
are pulled firmly against the arm
assembly.
CAUTION: Avoid potential injuries or
property damage!
DO NOT over-tighten the lag bolts (E).

<5/8in—

nunhbWN

9-7/10in.
@
\ = v

< 7in.

TV shifts 7 in. from the home position
to full extension.

Option 2: Installing to a solid concrete or concrete block wall
1 Level the arm assembly (B) and mark the hole locations.
2 Dirill pilot hole to a depth of 3 in. using a 3/8 in. diameter drill bit.
3 Insert the concrete wall anchors (C) into the pilot holes
and make sure that the anchors are seated flush with
the concrete surface.
Align the arm assembly (B) with the anchors.
5 Place the washers (D) over the holes in the arm assembly,
insert the lag bolts (E) through the washers, then tighten
the lag bolts only until the washers (D) are pulled firmly
against the arm assembly.
CAUTION: Avoid potential injuries or property damage!
DO NOT over-tighten the lag bolts (E).

D

concrete surface.

CAUTION: To prevent property
damage or personal injury, never
drill into mortar between blocks.

Mount wall plate directly onto the




WA RF-TVMFMO2 10-0565 QSG V1 EN.eps 2  6/2/2010 6:03:22 PM
N

@

3 Mount theTV to the wall

1 Slide the top and bottom edges of the arm assembly under the metal tabs on the TV bracket.
2 Secure the arm assembly to the TV bracket with the cap screw (T) using the 3/16 in. hex key (R).

4 Adjust the viewing angle

When the television is mounted onto the arm assembly and secured, the assembly can be adjusted to

make the TV level.

HEAVY! You will need
assistance with this step.

1 Loosen the two screws on the arm assembly using the 5/32 in. hex key (S).

2 Adjust theTV + 6° either clockwise or counter-clockwise.
3 Retighten the screws.

Leveling

5 Adjust the swivel tension
Adjust the swivel tension using the 5/32 in. hex key (S).

6 Manage the cables

Use cable ties (U) to bundle and secure the TV cables to the arm assembly.

0

= D i N
— =N
\ - \\‘ \\‘\
NS «:@:A_l\\‘-l\“-\n

)

7 Adjust the tilt

Adjust the tilt of the TV forward or backward 10° using your fingers or the 3/16 in. hex key (R).

Download fron...... Manuals Search And Download.

IMPORTANT SAFETY INSTRUCTIONS
SAVE THESE INSTRUCTIONS

CAUTION: Do not use this product for any purpose not explicitly specified
by Rocketfish. Improper installation may cause property damage or
personal injury. If you do not understand these directions, or have doubts
about the safety of the installation, contact Customer Service or call a
qualified contractor. Rocketfish is not responsible for damage or injury
caused by incorrect installation or use.

The weight of your TV must not exceed 60 Ib (27.2 kg). The wall must be
capable of supporting five times the weight of the TV and wall mount
combined.

This product contains small items that could be a choking hazard if
swallowed. Keep these items away from young children!

5-year limited warranty
Visit www.rocketfishproducts.com for details.

We're here for you
www.rocketfishproducts.com

For customer service, call:
800-620-2790 (U.S./Canada markets)

© 2010 BBY Solutions, Inc., All Rights Reserved.

Distributed by Best Buy Purchasing, LLC 7601 Penn Avenue South, Richfield, MN USA
55423-3645

Distribuido por Best Buy Purchasing, LLC

Best Buy Imports, S. de R.L. de C.V. Av. Santa Fe 485, Segundo Piso, Colonia Cruz Manca,
Programa Parcial de Desarrollo Santa Fe, Delegacién Cuajimalpa, Distrito Federal, México
05349

ROCKETFISH is a trademark of BBY Solutions, Inc. All other products and brand names are
trademarks of their respective owners.

6907-002018 <00>

ENGLISH 10-0565



Free Manuals Download Website
http://myh66.com
http://usermanuals.us

http://www.somanuals.com

http://www.4manuals.cc

http://www.manual-lib.com

http://www.404manual.com

http://www.luxmanual.com

http://aubethermostatmanual.com

Golf course search by state

http://golfingnear.com

Email search by domain

http://emailbydomain.com

Auto manuals search

http://auto.somanuals.com

TV manuals search

http://tv.somanuals.com



http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


